F—REAREAT

FRRBAF202NKF L —BEHEEK
FREG-FREZREZLETENR

F= W4 il = EREWLE
1 [ k% 4602 %kkkkkkk%%(004 | 85
2 Z ok 3307 kkkkkkkkkk()316 81
3 T kk 3705%%k*kkkkk%%%0620 80
4 % 320 Hskskskkskkkkkk502 | 76
5 X 440 5%kkkkkkkkk ] 224 76
6 T Kk 230 1 kkskkskkkkkk] 020 75
7 ZR ok 360 1 kkkkkkkkkk5228 74
8 F xk 4101 skkskskskskkokkk(0020 73
9 Ro* 370 1 skskskskskskskkkk (027 70
10 X ok 3101 skskskskskkkkkk3 259 70
11 V) ek 1401 kskskkskskkkkx()6529 70
12 FK ke 130 1 kskskskskskskskkx3329 70
13 FrT, 342 6%kxkkxkkkkk0] 19 70
14 ik 430 Drsoksokokkkk 3022 69
15 H *x 341 1 kkkskkskskkkk(04 1 69
16 fE* 3708 kkkpskkkk4k3246 69
17 Tk 3706%kskkskskokkokk 1 046 69
18 7 sk 4129%kxkxkkkkkk3728 68
19 2K %ok 1424 %kkkk%k%k%%%0029 68
20 X 142 3kkskkskkkok k0025 68
21 7 ok 4105%kkkkkkk%k%5000 67
29 I e 4127 kkxxkkkxx%0046 67
23 7 ok 4209kskskskskskokokokkD 74X 67
24 Ak 362 3skkkksokokkksk(0527 67
25 [Ve] sk 3306%k*kkkkk%k%k%k3826 66
26 X 340 3xAskkdkk4k0420 66
27 koK 23921 skskkkskkskkkk4()]X 65
28 7 gk 420 5%kkkkkkkkx0069 65
29 7K * 321 3kskskokokokdk(092 65
30 W ok 341 Dksskrsorskokkk 2007 65
31 nay ok 4920 1 kkkskkkkkkx4 588 65
32 I 321 3kskkkdk4k(06 | 65
33 W ok 310 Lskssrskoksokkk 282 1 64
34 2K ok 2203 skskkkkkkkk k0627 63
35 Ft ok 3202k kkkkkkkkk()824 63
36 Ik 41 14%xskskkkkkkx]226 63
37 7K * 1523 skkkskokkdkk5065 62
38 X% 3204k k%7 302 62
39 ik 321 0%ksskkkkdk 3954 62




40 B % 3305%kkkkkkkk*%0225 62
41 Tk 5105kskskskskokskokkk4 60X 62
42 FH Hok 321 2skskstokokokokekokok 0044 62
43 I skk 620 1 kkkkkkkk*xk3027 62
44 7 sk 310 1skskskskskskokskkk 1414 62
45 Ak 330 3skkksokkkkk6225 62
46 % 140 Dksskorsoskorsokk (0842 61
47 K %ok 31 02skskskskskkkkkk ] G27 61
48 x| % 36223%kskkkkskk43k0020 61
49 ok 412 Tkkxkkkkx%k%4569 60
50 7 ok 3422 kkxkkkkkkk%k249 | 60
51 & % 3102 skskskskskskkkkk()40X 60
52 K %ok 1528kkskkskkkkkk(0528 60
53 sk 3206%kkkkkkkkk()423 59
54 Ak 330 | skskskskskskkkkky 122 59
55 =% 360 Ixsskksdorkkk0925 59
56 B sk 231 0%kskkkkkskkkk] (025 58
57 k% 1 304*kskkkkkkk]223 58
58 & kk 471071 skskskskskskskskskk()052 58
59 BK %ok 4128%kxxkkkkkkkx()628 58
60 % 4106%kkkskkk%%%2020 58
61 k% 2106%*kkxkxkx%x 1068 58
62 Z %ok 330 5%kxkskskkskskkkk()81 3 57
63 % 411 3%kkkkkkkk%k5425 57
64 R sk 29204 xkkkkkkkkk5925 57
65 ZE% 540 1 *sskkskokkkk0515 57
66 2K %ok 342 Gk kkkk k3323 56
o7 & % 3209 skskskskkkxkxkxkx()201 55
68 Ak 5325 %kkkkskkkkkk] 222 55
69 K sokskokokokokok 654 1 kskskkkkkkkk] 161 55
70 =k 3102%kkkkkkkkkk5327 54
71 P ok 2302%3kkk4kkkAkk 3022 53
72 T kx 321 0kskskkkkkxk(0423 50
73 JE] xx 411 2%kkxkkkkkx()319 50
74 Xl 3622kkkkskkokkkk ] 018 50
75 2K ok 3102%kkkskkkkkkk] 817 41




